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Note : Attempt questions from all sections ‘as directed. The
figures in the right hand margin indicate marks.
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Note : All questions of this section are compulsory.
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"Exposition of the World System" jis composed by :
(a) Hoyal Littleton

(b)  Kant . |

(c) Laplace

(d)  Chamberline
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The depth of Earth's coreis :

(@ 5150 km.
(b) 7360 km.
(c) 6300 km.
(d)  6371km.
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Loess is an example of :
(a)  Sedimentary rock
(b) Metamorphic rock
(c) Volcanic rock |

(d) Igneous rock
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Yardang is formed by:

(a) Rivel; erosion

(b)  Wind deposition

(Q) Wind erosion

(d)  Wind Transportation
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The percentage of Argon in atmosphere is :

(a) 0.03%
(b)  0.93%
(c) 0.18%
d) 0.73%
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Doldrums are located :

(a)  Between5°-10° North and South latitude

(b) Between 5°-25° North and South latitude
(c) Between 23149-66%:°North and South latitude

(d) Between 15°-20° North and South latitude
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Normal lapse rate of temperature is :
(@  6.5°Ckm.

(b) 5 °Clkm.

(¢)  3.5°C/km.

(d)  4.5°C/km.
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Khamsin blows regularly in Egypt and over the Red Sea

for about :

ta) | 30 days
(b) 40 days l
(c) 50 days
(d) GO days
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Hurricane is found in :
(a)' Japan

(b) Australia

c) USA.

(d) China ,
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- Fathom is unit.of measurement of :
(a) Temperature of Ocean
(b) Depth of Ocean
(c) Salinity of Ocean.
(d) Height of tides in Ocean. -
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Note : Answer all questions.
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Give description about the types of Earthquake Waves.
Q.2. GERT T ARFIT T 7
What is Syncline and Anticline?
Q3. SR & YHR H o Hifem
Give description about different types of wéq,th,ering.
Q4. U Qe T &7 |
What are Westerlies?
Qs o A Y
What is Water Cycie?
HUs-H / SECTION-C
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Note : Answer all questions.
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Define Physical Geography and discuss its scope.
HYCT/OR |
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Explain the Novastar Hy‘/pothesig of Hoy»le and Lyttleton.
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By classifying rocks, describe igneous rocks.
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Explain various land forms by river erosion.
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Explain in detail the composition of atmosphere.
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Explain in detail the origin and mec_hanism. of Monsoon.
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"The Oceanic water is always saline but the salinity is

- not every where the same." 'Discuss_. B
HYAT/OR
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~ Explain along with map the major currents of Pacific

Ocean.
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